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SN S
HE: sARWA 23
e sPsELIIIEH (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O=dd sHEAMHIA JIEZ A 50,000
307 21201 A 30,000 30,000 0
02 B AEXS 30,000 30,000 0
Os0E 234 2= 30,000
M= DSBS 1,635,040 1,024,400 610,640
= 312,500
& 1,068,200
< 254,340
307 glz2tol & 65,000 0 65,000
= 32,500
< 32,500
02 QIZtFAE XS 65,000 0 65,000
O=sZ8483X2dH 2Y 65,000
= 32,500
< 32,500
308 XX EHHSOIA 364,000 0 364,000
= 280,000
= 84,000
01 AXHHILEES 364,000 0 364,000
OsHESEEEZH 2g 364,000
= 280,000
< 84,000
403 MHXSHHSA=0l& 1,206,040 1,024,400 181,640
= 1,068,200
< 137,840
01 HXSHMA=E X 1,206,040 1,024,400 181,640
Ootlszs=23 =4 593,000
= 525,000
< 68,000
onsssas &= 613,040
& 543,200
< 69,840
sdEA gRFH 7,578,010 5,697,210 1,880,800
= 441,000
& 1,389,000
< 5,748,010
3sEUN gRFA 4,120,000 165,000 3,955,000
201 2et24d] 120,000 165,000 A 45,000
01 At 2teltl 120,000 165,000 A 45,000
O3=s&8l |3 =& 2 249 40,000
O3s8d gexa 40,000
O3s& ol dMElt 40,000
308 AHAIEHHSOIA 4,000,000 0 4,000,000
01 HIXNHHNBMNEELS 4,000,000 0 4,000,000




SN S
HE: sARWA 23
SERET = (Etel & &)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
O3S Al AIHAI (E3}H) 4,000,000
SsSENgAZ=H 1,836,500 3,548,100 A 1,711,600
2 1,389,000
= 447,500
307 QI2t0| & 270,000 280,000 A 10,000
02 2AAMNEXS 200,000 180,000 20,000
OsHE ME0Is s2d8AF &0t 150,000
OMElls HEN 20,000
OsHE HEo=s 43 30,000
05 QIZtR E 2 70,000 100,000 A 30,000
ONME &0l 2sAH & 70,000
308 XAXIGHHMSO0l& 15,000 15,000 0
01 HXHHBIMNEXS 15,000 15,000 0
OF- &2 RXEH 15,000
403 XX SHHMS K201 H 1,551,500 3,253,100 A 1,701,600
2 1,389,000
o= 162,500
01 XS AS2E X 1,551,500 3,253,100 A 1,701,600
=M= M E OIS ZHAIE X 894,000
2 799,000
= 95,000
OsHEANEF520I=S A= 22 542,500
2 490,000
= 52,500
OFY HE -5 32t 4 115,000
2 100,000
& 15,000
CsusEgds & 516,510 498,110 18,400
= 441,000
o=t 75,510
308 XHXIEHSOIA 516,510 498,110 18,400
= 441,000
& 75,510
01 AIXISHHEMNEXZ 516,510 498,110 18,400
SEMEOS MREXE 423,360
= 360,000
o= 63,360
Os==sHM A& 93,150
= 81,000
= 12,150
AJIES F 02 GHSDI 1,105,000 1,486,000 A 381,000
201 Bt 40,000 80,000 A 40,000
01 AP 22| H| 20,000 50,000 A 30,000
o"l & =8 20,000




2N
X ZH -
L= B

el

S=R-E
SEE RN
ST YL

SA - FE - BI(EA) - NRAY - By 0l b SSa DS

03 &AL2 I 20,000 30,000 A 10,000
Of3ds & ZTH2EXA 20,000

202 04l 20,000 21,000 A 1,000

01 = LH 4 HI 20,000 21,000 A 1,000
O&JIZEE2 JUNSYRFA 20,000

308 XX EHHSOIA 90,000 130,000 A 40,000

01 HIXNHHNBNEES 90,000 130,000 A 40,000
OAN=ZHE X2 90,000

403 A X EH S0l A 955,000 1,255,000 A300,000

01 X SHHA2E = 955,000 1,255,000 A300,000
Obl=stued & tSs2dAHEE+=E 450,000
O AL I 300,000
Osgars edE:=s X& 205,000

SUOASHNY U sAHLBe = 6,956,192 6,883,846 72,346
= 3,570,760
< 3,385,432

g0 ussd 163,000 550,400 A 387,400
= 135,000
< 28,000

307 glztol & 63,000 50,400 12,600
= 35,000
= 28,000

05 RIZ2tRIE = 63,000 50,400 12,600
OFg=sYy B2 W= 63,000
= 35,000
= 28,000

403 MtXSHHSA=0l& 100,000 500,000 A 400,000
= 100,000

01 X SHMA=2E X 100,000 500,000 A 400,000
SFUFME N ASAE FHXZ 100,000
= 100,000

SHIIHLENNR 327,600 442,800 A 115,200
= 273,000
= 54,600

308 XXIEHHSOIA 327,600 442,800 A 115,200
= 273,000
=) 54,600

01 AXHHBILEES 327,600 442,800 A 115,200
Osgagz&E N 327,600
= 273,000
& 54,600

SHESLEZEN B 541,332 541,332 0




SN SR
HE: sARWA 23
ol SeoUSANE U YRS 27 (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
308 XXM SO0l A 541,332 541,332 0
01 IXNHHBNEES 541,332 541,332 0
Ost=2s0edzE 2= XA 322,056
Os=Egs4e 25 1 210,276
Ost=2=sF3ugE = XA 9,000
=gol =SXea XA 1,279,862 1,314,608 A 34,746
308 XXM SO A 1,279,862 1,314,608 A 34,746
01 IXNSHHBANEES 1,279,862 1,314,608 A 34,746
OsJtE<0 XN& 36,000
sy sia X 1,215,512
Os&ls 24 N&E 28,350
st |4 200,000 200,000 0
307 21201 A 200,000 200,000 0
02 B AEXRS 200,000 200,000 0
Osgeltd XA 200,000
SEANJEH =4 325,650 72,450 253,200
308 AHAIEHHSOIA 75,650 72,450 3,200
01 HXNHHBHELS 75,650 72,450 3,200
Od=sgelde X 65,650
Od=sgel Hilwa 10,000
403 A X EHHS =0l A 250,000 0 250,000
01 XXM 22 = 250,000 0 250,000
Osg=Ra 2 250,000
SHE 2502 HEAY 3,964,748 3,628,256 336,492
= 3,052,760
S 911,988
308 AHAIEHHSOIA 3,964,748 3,628,256 336,492
= 3,052,760
< 911,988
01 HIXNHHNBHNEES 3,964,748 3,628,256 336,492
SHESBSUAM EE22SE 3,951,948
= 3,039,960
< 911,988
Os0E&E Ss00l=ssdH XA 12,800
= 12,800
sHIAGMEESEZZ2 Y 154,000 134,000 20,000
= 110,000
< 44,000
307 gl2tol & 99,000 54,000 45,000
= 55,000
< 44,000




SN sYEUY
Bu: soAM U
el SoloERANE U SUFLE £X CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
02 0IAtFAEXTZ 99,000 54,000 45,000
OsAE 2N XAg T )H 99,000
= 55,000
= 44,000
308 XX S M SO0l & 55,000 80,000 A 25,000
= 55,000
01 AXHNBIMNEXZ 55,000 80,000 A 25,000
OUAB(=a)ZYEH T2 30,000
= 30,000
OMNEZ0[(OtAH)HEH Z2 25,000
= 25,000
SMHESRSFENL 590,000 3,233,150 N2,643,150
2 500,000
o= 90,000
SHAS MM SE IR JHRE X 590,000 3,118,150 ~2,528,150
2 500,000
& 90,000
308 XX SHHSO0IA 360,000 414,000 A54,000
2 300,000
& 60,000
01 AIXHMBAEXZ 360,000 414,000 A54,000
OFY TOP s&t=2 M At 360,000
2 300,000
= 60,000
403 XHXI SHAI S X = 0] & 230,000 2,704,150 A2,474,150
=z 200,000
= 30,000
01 HXHNMAHEE = 230,000 2,704,150 N2,474,150
OF Y TOP sitE2 A A 230,000
2 200,000
& 30,000
ASAAEY 17,246,030 17,405,500 N 159,470
2 14,394,000
= 2,852,030
SFENME RN 7,394,600 6,695,000 699,600
2 6,015,000
& 1,379,600
201 LBt Y| 5,000 5,000 0
2 5,000
01 At 22l ] 5,000 5,000 0
OEFEMISHAMNY 5,000
) 5,000
202 04| 10,000 10,000 0
2 10,000
01 2L Y| 5,000 5,000 0




SN sYFYY
Bu: soAM U
el ABASA (S5 &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
OELHELEAY 5,000
= 5,000
03 =220l 5,000 5,000 0
OSEMHFEAY 5,000
& 5,000
306 =4 =2 50,000 50,000 0
01 &3 50,000 50,000 0
OZENE0NA RANEs ¥ ZHIINE 50,000
308 XX EHHSOIA 4,006,200 3,381,300 624,900
2 3,159,000
S 847,200
01 AXHHILEES 4,006,200 3,381,300 624,900
OENMY 84 4,006,200
& 3,159,000
=) 847,200
403 UtXSHHSA=0l& 3,323,400 3,248,700 74,700
& 2,841,000
& 482,400
01 HXSHMA2E X 3,323,400 3,248,700 74,700
OgELEEYH 3,323,400
= 2,841,000
< 482,400
ABNUEEY 412,000 627,000 A 215,000
306 =3 100,000 100,000 0
01 &3 100,000 100,000 0
OsAlE 230 A A 50,000
OHEXA Z3HCIRHRI ALY 50,000
307 glz2+ol & 50,000 130,000 A 80,000
02 QIZtFAEXZ 50,000 130,000 A 80,000
OAdE s SHUHERHAD 2 20,000
OSAAE el2st W= 30,000
308 XX EHSOIA 45,000 45,000 0
01 HIXNHHNBHNEES 45,000 45,000 0
Osty AMMEnNsieEsd =4 45,000
403 A X EHS K= 0l A 217,000 282,000 A 65,000
01 HXISHT =L 217,000 282,000 65,000
OFEZF |4 51,000
ONELEAE 54 110,000
OsdtE I3 56,000
SHEMSS JI=HEI A 25 168,000 300,000 A 142,000
= 79,000
< 79,000




AN sHEMD
Bu: soAM U
el ABASA (S5 &)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
201 L2l 30,000 300,000 A 270,000
& 15,000
< 15,000
01 At 22l 30,000 300,000 A 270,000
OsHEALSIEHIMNARS 30,000
= 15,000
< 15,000
202 odl 5,000 0 5,000
& 5,000
03 =L R0 5,000 0 5,000
OsUHEAYSIEHINARS 5,000
& 5,000
307 ©12+0I & 123,000 0 123,000
2 59,000
< 64,000
05 RIZHRIEF 3 123,000 0 123,000
OsHELYSIEEINATRS 123,000
& 59,000
< 64,000
s&2 HEZIOtE K& 9, 150,000 8,314,000 836,000
& 8,250,000
< 900,000
402 RIZ2EXt20l ™ 2,400,000 0 2,400,000
& 1,500,000
< 900,000
01 QI2tX2E X 2,400,000 0 2,400,000
OsAlE HBLIANEH 2= 2,000,000
& 1,250,000
< 750,000
OBt A 3 MAKI S THOH A (CHHILES ) & X 400,000
= 250,000
< 150,000
403 MtXISHHE X201 E 6,750,000 8,314,000 A 1,564,000
= 6,750,000
01 AXSHMA=2EE 6,750,000 8,314,000 A 1,564,000
Ontsce s43 JgEId=sY 2,400,000
& 2,400,000
OoXgtte sAZ JIgsd 600,000
& 600,000
Os¢SItsdH 25X & 2,500,000
= 2,500,000
OMAI AHEHE 2= 1,250,000
& 1,250,000
AldE NERdA 71,430 0 71,430
& 50,000
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